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https://www.100test.com/kao_ti2020/122/2021_2022_1991_E5_B9_

B46_E6_9C_c84_122688.htm 六级作文题： Directions: for this

part, you are allowed 30 minutes to write a composition based on the

graph below. Outline: 1.Rise and fall of the rate of car accident as

indicated by the graph. 2.Possible reason (s) for the decline of car

accidents in the city. 3.Your predictions of what will happen this

year. Food Year 1986 1987 1988 1989 1990 Grain 49% 47% 46.5%

45% 45% Milk 10% 11% 11% 12% 13% Meet 17% 20% 22.5% 23%

21% Fruit and vegetables 24% 22% 20% 20% 21% Total 100% 100%

100% 100% 100% Your composition should be no less than 120

words and you should quote as few figures as possible. 范文： The

graph shows the changing rate of car accidents in Walton city in

1990. The first two months of 1990 showed an increasing trend. The

rate rose to 32 in March but fell to 26 in June. From June on the rate

was rising again and reached the peak point 39 in August. After

August the rate began to decline, and eventually 0dropped to the

lowest point 16 at the end of the year. The highest rate in August was

due to unfavorable weather conditions. Humidity and high

temperature make drivers impatient, which easily leads to car

accidents. The high rate in the first half of 1990 was also caused by

the bad weather condition. In Walton City the excessive rain comes

at early spring. The rain made road slippery, which often resulted in

car accidents. This year the pattern is expected to change. The city

government has raised fund to improve the road condition. Two



new roads will be finised at the beginning of this year and are

expected to open to traffic soon. Furthermore, the new road

regulation provides that in summer every car must be

air-conditioned. With all these precautions, Im sure that the rate of

car accidents will be much lower this year. 100Test 下载频道开通，

各类考试题目直接下载。详细请访问 www.100test.com 


